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Precalculus Name "{e /\/
2.1-2.4 Test Review Period Date
Find the vertex.
1. f(x)=-2x*+12x—18 2. f(x)=-2(4x—-12)*+5
_ ,IZ - — ° .

*= aca 53 V: (3,0) Vi (2:9)
3. f(x) = x? +16x + 61 4. f(x)= —(5x +10)2

_ =l _ P f—q _

=3 3 \}'<%) %3 \J - (2;0)

Write the quadratic equation with the given vertex which passes through the given point.

5. Vertex: (—2,5); Point: (0,9)
Yra (x+2)+5 g:(x(\»z‘ﬁs
Gza o+ +5

4= Yo as\

6. Vertex: (:3,—10); Point: (0, 8)
HraGesi-1o gy g (xe 10
2 zalotD -0

12 =z

7. Vertex: (1,—2); Point: (—1,14)

- - 2,1(
W= a (x \\12, 5=~Ll(x—\3—
= o (~l-0"-7
lo = Ya

8. Vertex: (2, 3); Point: (0,2)

o (x-2)+3 S VPN
2:0\,(0"231*'3 3 - Cxeayes

-\ =z Hoo

Find the x — intercepts.

9. f(x) =21x2 + 29x — 10
3.7 21%

= (7% -2)3%+ 5)
(2/7,0)  (-%/3,0)

10. f(x) = —x? -ﬂl—y_mz_ﬁ+5 r
x«—2+\J‘~\ IEHGY) \ (l-\J'ZZ,o)

2.¢-\)
%= -2t \ o4 ~ 2t 2% o VL
S -y

11. f(x) =8x*+34x—9
= (Mx-1)¥2x+9)

12.  f(x) =x%+10x + 14

!
'@
x=-iotico-qa0d) |

200
\/L\ 'O o Q = O — o
C } C /6)—\ 3 X?"‘Qi\m :WIQIZ‘L\}-A{‘ uv,‘c"“-%:\guwh
—_— e = BTN
2 2.
13. Determine the left-hand and right-hand end behavior of : f(x) = x5 + 3000000000x2 + 10
X =00 § (¥ ~©0 K-> 00 £ (%)= 00 \&’“?

14. Determine the end behavior of f(x)=-3x"" —6x" +4 ;
X300 F OO - oo

Y= -00 § ()~ -0

\

15. What is the multiplicity of the zero x =5 in the function f(x)=x’ (xé SQ(x —2)2

16. State the degree of the given polynomial. f(x) = —3x%(x — 2)3(x + 4)|(x —1)*
\O
17. State the maximum number of zeros for the polynomial f(x) = —3x® + x* — 2x + 10

18. State the maximum number of turning points for the polynomial f(x) = 8x5 + 3x* — 6x?
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19. When using synthetic division the remainders from using -2 and 5 as inputs are 1 and -8
respectively. Which of the following would be the best choice to use as input in order to find the zeros of

the function? fe-2)=1 } g 9N
a. —6 @ c. 6 d. -10 e. None of these 'CC 5) = = chcmgé’c
only number bekween -2£5

20. The following table shows there are at least how many real zeros?

x f()
21| —.0006 |4
22 |.00059 ‘ e
23 |.00073 |4, 3 sign conanges
24 | —.0007
25 | —.0017 |, B
26 | .00194
2.7 | .01702 \ 3 geros

s

21. Which of the following are true given the following synthetic division?

L f(3)=0 IL x-int:(-3,0) II. x+3 isa factor 3 3 ; ;‘; ::
Folse TRUE TRUE 3 7 1 o

22. If the polynomial g(x) = (x + 4)?(x — 3)‘(x + 1)‘ is divided by the polynomial f(x) = x — 7, then
what is the degree of the quotient? Dearee gl Aivided o deafee 1

o 3 1 Ny
Oouohierit leavee 3
~

23. Given: 10 —2i 24. Simplify: .
Name its compl'ex conjugate. (3\/-_'2)2 < C’ 3\51:1\ ’X%\S.,,q} =
- . . ' 2
1042 (3021)(3°21)= 30
= -3b
25.  Simplify: 26. Write the expression in the form a + bi
—4(2 + 6i) — (2 + 110) 2+30 ({) = 21+31% - 3421 -3-2] sLof)s
-5 -4 -2t = 60 (1) \* —l L 23
=10 ~25i
27. Write the expression in the form a + bi 28. Write the expression in the form a + bi
5-20 (1) =51-23% . 2451 _ .9.gi  [L3)(3+6)
iy e T T (360 X3 161 |
316149141812 _ -5 +151 . -] 4+ L]
O1ig}-1g1-3b1r 45 ER
29.  Write the expression in the form a + bi 30. Simplify: _ LY 241) =
6—i>{3+\\) —'5(2+i)2 6 (2+ Y . "3;)::».,
(3 — N>+ "5 (Ma2i Ay
134 6i-3i-1%_ 19 +31 _ 19 434 "5 (34ui) =
T oD 10 .
9 £31-3 - \o ‘ -15-20i




Graph the following quadratic. (show at least 7 points)

31 y=—(2x-8J+5 2. Y= [x (x-0fF-y
T
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Write the polynomial with the given zeros.

33. x—1 —2,5 34, x= —2,-4,2,4
(-0 X255 {x w2 k-2 e Y XU
wy(xﬁ?}x-~»zo§ (x2- OO0

X5 ek 2oy Fapl
><3~ 2y 10X

«Xl 3% \cz ) Oz X H o oxt4 M
ﬁ(x\— SR TR
35. Divide: (6x +30x° +26x2 —2x—90)+(2x2+4x+6
Ix>4+9x. =11 (4
2% 2 ruxtl Yoyt BO%3 426x2-2% ~90
- ox* P et
o \%)&34 8 X *'ZX
\9#3 +—3>(m< R
T ekt s x 40
t2gx* _Stpx}»gb\
o
3xteax -\ 4 e

2X 24 X1l




36. Show that (x + 2) and (x — 3) are factors of:

(x) = x* —4x3 — 7x? + 22x + 24, then find the remaining zeros by using synthetic division.
g

"2} 0 -v -7 22 24
2\ -\ -2

e 9 AT S A ST 05

(Qe_mc;'\v‘\(‘\ aer

' o sero 15 a facter

3| V" 5
J 2 -9 -2

O € Remawnder
2ero ig o Fat

V- e

¥ -2y -4 =p
( X+ (x-1H=O
X= "4, |

2ev05 4 -2, 3,-H, |

37. Show that (x + 1) and (x — 1) are factors of:

f(x) = x* + x3 + x* — x — 2, then find the remaining zeros by using synthetic division.
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